

$AH: BC \perp A \text{ loc: } \begin{cases} BC: x+y=\varepsilon \rightarrow \text{cancel} & AC(1,1) \\ A: x+ry=r \rightarrow y = \frac{-1}{r}x + \frac{r}{r} & AH \perp BC \\ BC \text{ eq: } m = \frac{\omega}{r} & m(\frac{1}{r}, \frac{r}{r}) \end{cases}$
 $\frac{AM}{AH} = \frac{\omega}{r}$
 $y = \frac{1+r}{r}$
 $C: rx-1 = \varepsilon - m \rightarrow m = \frac{\omega}{r}, y = \frac{1+r}{r}$
 $AH = \frac{\sqrt{2}}{r}$

$\frac{|ax_0+by_0+c|}{\sqrt{a^2+b^2}} \rightarrow \frac{|c|}{\sqrt{a^2+b^2}} = \sqrt{2} \rightarrow \frac{|c|}{\sqrt{(\frac{1}{r})^2+1}} = \sqrt{2} \rightarrow \frac{|c|}{\sqrt{\frac{1}{r^2}+1}} = \sqrt{2} \rightarrow |c| = \sqrt{2} \sqrt{\frac{1}{r^2}+1}$
 $y = -\frac{1}{r}x + b \quad \frac{1}{r}x + y + \omega = 0 \quad \sqrt{(rb)^2 + (1+b)^2} = \sqrt{2} \sqrt{2} = \frac{2\sqrt{2}}{r}$
 $\frac{1}{r}x + y - b = 0 \quad y = 0 + b \rightarrow B(0, b)$
 $-b = c \quad c = -\frac{1}{r}x + b \rightarrow A(-rb, 0)$

$y = (1-m)x + r \quad (1-m)x + r = 0 \rightarrow m = \frac{r}{m-1}$
 $y = \frac{r-m}{m} + r \quad \frac{r}{m}x + r = 0 \rightarrow m = \frac{-r}{r}$
 $y_1 = y_r \quad m_r - m_1 = BC \quad AH = r$
 $(1-m)x + r = \frac{\varepsilon}{m} + r \quad \frac{1}{r}x + r \mid a_y - x_1 = \left| \frac{r}{m-1} + \frac{m}{r} \right| = \frac{\omega}{r}$
 $x = 0 \quad \begin{cases} \frac{r}{m-1} + \frac{m}{r} = \frac{\omega}{r} \\ m = r \\ \frac{r}{m-1} + \frac{m}{r} = -\frac{\omega}{r} \\ m = -r \pm \sqrt{\omega} \end{cases}$
 $y = r \quad \textcircled{1} \textcircled{2} \textcircled{3} = r(\varepsilon - \omega) = -r \leftarrow$

$y = rx - r \quad y' = r(m-r) - r$
 $m(r, -r) \quad y+r = rx - \varepsilon - r$
 $x' = x - r \quad y = rx - r$
 $y' = y - (-r) = y + r$

$y = x + \omega \rightarrow m_1 = 1 \rightarrow m_r = \frac{-1}{r}$
 $A(1, r) \quad m_r = \frac{-1}{r}$
 $AA': y - r = -1(x-1)$
 $y - r = -x + 1$
 $y = -x + r$
 $(a, b) \rightarrow (\omega, 1\varepsilon) \rightarrow r(1\varepsilon) - \omega = rr$
 $\begin{cases} x = 1 + r(r) = \omega \\ y = 1 + r(r) = 1r \end{cases}$